Sustainable Sugarcane Systems supplied by Rosewater



Our super-efficient dispensers reduce usage and costs. It's like super-concentrate paper, we cram LOADS of paper into each box and our efficient dispensers make each box last a really long time so your monthly costs are reduced!





FEATURES & BENEFITS OF FIG PAPER & DISPENSERS



- We cram a huge amount of paper into each box with up to 3 times as many sheets as a case of mini jumbo rolls
- This means one case of our paper will last up to 3 times as long as mini jumbo's, and on top of that...
- We have 3 features that can further increase the longevity of a box of FIG paper from lasting as long as 3 cases of mini jumbo's up to 6 cases
- Feed restrictor inside our toilet roll dispenser extends the life of one box by up to 25% by preventing roll spinning and reducing usage
- Twin roll dispensers can further extend the life of each box of paper by up to 33% over single roll dispensers because all of the rolls are used, not thrown away when they get low.
- Our 11 cm sheet length means more frequent perforations so the user can break off where they want to, not have to take another 30 cm of paper to get to the next perforation. This extends the life of each box of FIG paper by another 5%



a case of mini jumbo rolls!

with zero waste save up to 25% over single roll dispensers, making each box last even longer

inside our vertical toilet roll dispenser makes each box last up to 33% longer!

Sheet optimisation saves 5% over jumbo rolls making our cases of paper last a super long time!



SUGARCANE PAPER FEATURES & BENEFITS



- Sugarcane is made from the left-over plant after the sugar has been extracted for the food industry
- Being a by-product makes it even more sustainable than bamboo
- It's much softer than bamboo due to the short & delicate fibres of the sugarcane plant
- It breaks down in 4 seconds when flushed, helping to prevent blocked drains
- It is harvested every 11 months whereas trees take 30 years
- We cram more paper into smaller cartons to reduce the carbon footprint for deliveries
- Sugarcane has a 64% lower carbon footprint than recycled paper





ECOMATIC CLASSIC TWIN TOILET ROLL DISPENSER

With zero stub-roll waste, this dispenser has a feed restrictor inside to slow down the rolls and reduce usage meaning that each roll lasts even longer so your monthly costs are lower.



Feed restrictor screws squeeze the sides of the rolls to reduce usage

Product Code	Description	Quantity / Case	Quantity / Layer	Quantity / Pallet
FIG1903W	Ecomatic Classic Twin Toilet Roll Dispenser White	6	36	216
FIG1903B	Ecomatic Classic Twin Toilet Roll Dispenser Black	6	36	216
FIG1903S	Ecomatic Classic Twin Toilet Roll Dispenser Stainless Steel	6	36	216
FIG1903G	Ecomatic Classic Twin Toilet Roll Dispenser Bamboo	6	36	216

ECOMATIC CLASSIC SUGARCANE TOILET ROLL





Product Code	Description	Sheets / Roll	Quantity / Case	Quantity / Case	Cases / Pallet
FIG903M	Ecomatic Sugarcane Toilet Roll 2-ply (for use in vertical & horizontal dispensers)	909	27 rolls	24,543 sheets	42
FIG903L	Ecomatic Sugarcane Toilet Roll 3-ply (for use in vertical & horizontal dispensers)	636	27 rolls	17,172 sheets	42





ECOMATIC XL TWIN TOILET ROLL DISPENSER

With over 2,500 sheets per dispenser fill, this is our highest capacity dispenser which will reduce the frequency of refilling and reduce staff costs.



Product Code	Description	Quantity / Case	Quantity / Layer	Quantity / Pallet
FIG1903XLW	Ecomatic XL Dispenser White	6	30	150

ECOMATIC XL SUGARCANE TOILET ROLL



Product Code	Description	Sheets / Roll	Quantity / Case	Quantity / Case	Cases / Pallet
FIG903XLM	Ecomatic Sugarcane Toilet Roll 2-ply (for use in horizontal dispenser only)	1,257	18 rolls	22,626 sheets	49





CENTRE-PULL TWIN TOILET ROLL DISPENSER

Single sheet dispensing greatly reduces usage and is our lowest cost-in-use product.



Product Code	Description	Quantity / Case	Quantity / Layer	Quantity / Pallet
FIG1906W	Centre-Pull Twin Toilet Roll Dispenser White	6	36	216



CENTRE-PULL TOILET ROLL

Can be used in our centre-pull dispenser or most side-by-side dispensers or even a standard toilet roll holder. This product comes with perforated cores for removing the cores easily.



Product Code	Description	Sheets / Roll	Quantity / Case	Quantity / Case	Cases / Pallet
FIG906V	Centre-Pull Virgin Pulp Toilet Roll 2-ply (for use in centre-pull dispensers)	460	18 rolls	8,280 sheets	63



COMPACT HAND TOWEL DISPENSER

This is the slimmest hand towel dispenser in the world! With a projection of just 77 mm, it looks sleek & beautiful in any washroom!



Product Code	Description	Quantity / Case	Quantity / Layer	Quantity / Pallet
FIG1904W	Compact Hand Towel Dispenser White	6	48	240
FIG1904B	Compact Hand Towel Dispenser Black	6	48	240
FIG1904S	Compact Hand Towel Dispenser Stainless Steel	6	48	240
FIG1904G	Compact Hand Towel Dispenser Bamboo	6	48	240



COMPACT HAND TOWELS

Our White sugarcane compact hand towels are the slimmest on the market! A by-product of the sugar once it's removed for the food industry, the left-over sugarcane plant is made into these hand towels. Talk about sustainable!



Product Code	Description	Sheets / Pack	Quantity / Case	Quantity / Case	Cases / Pallet
FIG904S	Compact Hand Towels Sugarcane 2-ply (for use in 1904 dispenser)	150	16 packs	2,400 sheets	88



AUTOCUT ROLL TOWEL DISPENSER

Roll towel uses half the amount of paper compared to a folded hand towel dispenser due to the action of needing to grasp the paper with both hands, use it, then take another. Reduce costs with our autocut dispensers!



Product Code	ct Code Description		Quantity / Layer	Quantity / Pallet
FIG1905W	Autocut Roll Towel Dispenser White	4	16	80
FIG1905B	Autocut Roll Towel DispenserBlack	4	16	80
FIG1905S	Autocut Roll Towel Dispenser Stainless Steel	4	16	80

AUTOCUT ROLL TOWEL PAPER

Our White sugarcane roll towel is probably the most cost-effective on the market, boasting a huge 900 sheets per roll, it is made from the left-over sugarcane plant after the sugar has been extracted for the food industry.





FIG905S Autocut Roll Towel Sugarcane 1-ply





Product Code	Description	Sheets / Roll	Quantity / Case	Quantity / Case	Cases / Pallet
FIG905S	Autocut Roll Towel Sugarcane 1-ply (for use in 1905 dispenser)	900	6 rolls	5,400 sheets	50
FIG905RB	Autocut Roll Towel Recycled Blue 1-ply (for use in 1905 dispenser)	665	6 rolls	3,990 sheets	50





MANUAL & AUTO SOAP DISPENSERS

With our ingenious dosage switch inside the dispenser, you can get up to 2,800 doses from one refill, making this the lowest-cost foam soap on the market!



Product Code	Description	Quantity / Case	Quantity / Layer	Quantity / Pallet
FIG1901W	Manual Soap Dispenser White	6	54	378
FIG1901B	Manual Soap Dispenser Black	6	54	378
FIG1901S	Manual Soap Dispenser Stainless Steel	6	54	378
FIG1902W	Auto Soap Dispenser White	6	54	378
FIG1902B	Auto Soap Dispenser Black	6	54	378
FIG1902S	Auto Soap Dispenser Stainless Steel	6	54	378

FOAMING SOAP & SANITISER

Probably the lowest cost-in-use soap cartridge in the UK! All 3 pouches can be used in all six of our soap dispensers including the White, Black & stainless steel in the manual or auto dispensers. This means you can have the same pouches in the back of house dispensers as you do in your front of house dispensers.



Product Code	Description	Doses / Refill	Quantity / Case	Doses / Case	Cases / Pallet
FIG902C	Luxury Foam Soap Coconut Fragrance (for use in 1901 & 1902 dispensers)	2,800	6 refills	16,800	144
FIG902A	Anti-Bac Foam Soap Unfragranced (for use in 1901 & 1902 dispensers)	2,800	6 refills	16,800	144
FIG902S	Foaming Hand Sanitiser Alcohol-Free	2,800	6 refills	16,800	144



COMMODITY TOILET ROLL & HAND TOWELS

These products fit into most standard dispensers or onto standard toilet roll holders.

SUCCES 2-ply

Domestic-style Sugarcane Toilet Roll.



Proc Co	duct de	Description	Sheets/roll	Quantity/ case	Quantity/ case	Cases/ pallet
SWC	0002	Sweet Cheeks 2-ply Sugarcane Toilet Roll	400	24 double rolls	9,600 sheets	72





SWEEt Cheeks 3-ply

Individually Wrapped Sugarcane Toilet Roll



- Super soft
- Super sustainable
- Super-fast 4-second break-down
- 400 sheets/roll double length rolls
- 24 individually wrapped rolls
- ✓ Plastic-free packaging

SUCCLES 3-ply

Retail Packed Sugarcane Toilet Roll



- Super soft
- Super sustainable
- Super-fast 4-second break-down
- 400 Sheets/roll double length rolls
- 6 x double-length rolls per retail pack
- Plastic-free packaging

Product Code	Description	Sheets/roll	Quantity/ case	Quantity/ case	Cases/ pallet
SWC003W	Sweet Cheeks 3-ply Sugarcane Toilet Roll Individually Wrapped	400	24 double rolls	9,600 sheets	54

Product Code	Description	Sheets/roll	Quantity/ case	Quantity/ case	Cases/ pallet
SWC003R	Sweet Cheeks 3-ply Sugarcane Toilet Roll	400	24 double rolls	9,600 sheets	48





SWEEL Cheeks 5-ply

Luxury Domestic-Style Sugarcane Toilet Roll.



- The ultimate in luxury toilet roll
- Super soft
- Super-sized sheets!
- Super sustainable
- Super-fast 4-second break-down
- 4 x rolls per retail pack
- Plastic-free packaging

Product Code	Description	Sheets/roll	Quantity/ case	Quantity/ case	Cases/ pallet
SWC005R	Sweet Cheeks 5-ply Sugarcane Toilet Roll	170	24 rolls	4,080 sheets	48



Individually Wrapped Sugarcane Toilet Roll



- Super sustainable
- Super-fast 4-second break-down
- 170 sheets/roll double length rolls
- 24 individually wrapped rolls
- V Plastic-free packaging

Product Code	Description	Sheets/roll	Quantity/ case	Quantity/ case	Cases/ pallet
SWC005W	Sweet Cheeks 5-ply Sugarcane Toilet Roll Individually Wrapped	170	24 rolls	4.080 sheets	48





2-PLY CONVENTIONAL TOILET ROLL

Our lowest 'price per roll' product in the range, this is designed for people that want affordable sustainability. This product still gives you the softness of sugarcane, the performance with our 4-second break down when flushed and being probably the most sustainable by-product toilet roll in the world, this is real value for money!



Product Code	Description	Sheets/Roll	Quantity/ Case	Quantity/ Case	Cases/ Pallet
FIGC002CTR	2-ply Conventional Sugarcane Toilet Roll	210	40 Rolls	8,400 sheets	54

ULTRA-SOFT 3-PLY TOILET ROLL

This 3-ply ultra-soft toilet roll is our best-selling product in this range, fully embossed and designed to be used on any toilet roll holder with 170 sheets/roll and 40 rolls per case. Comes with all the usual benefits of sugarcane; fantastic quality, great performance, superior sustainability and a very competitive price! All in all, probably the best toilet roll in the world!



Product Code	Description	Sheets/Roll	Quantity/ Case	Quantity/ Case	Cases/ Pallet
FIGC003WGU	Ultra-Soft 3-ply Sugarcane Toilet Roll	170	40 Rolls	6,800 sheets	72





SUGARCANE ISOM MINI JUMBO'S

2-ply, edge embossed 150 m mini jumbo's made from sugarcane with the option of a 60 mm or a 76 mm core and the fastest break-down on the market to help prevent blocked drains.



Product Code	Description	Core Dia	 Metres/Roll	Quantity/ Case	Quantity/ Case	Cases/ Pallet
FIGC150MJ60	Sugarcane Mini Jumbo Toilet Rolls 2-ply	60mm	150m	12 rolls	1800m	55
FIG150MJ76	Sugarcane Mini Jumbo Toilet Rolls 2-ply	76mm	150m	12 rolls	1800m	55



SUGARCANE MICRO-MINI JUMBO

24 rolls/case, 664 sheets per roll. Equivalent of 80 rolls x 200 sheets. Fits most side by side dispensers or toilet roll holders. Super soft & breaks down in 4 seconds when flushed.



Product Code	Description	Sheets/Roll	Quantity/ Case	Quantity/ Case	Cases/ Pallet
FIGC002MM	Sugarcane Micro-Mini Jumbo Toilet Roll 2-ply	664	24 rolls	15,936 sheets	56



SUGARCANE BULK PACK

9,000 sheets per case. 36×250 sheets. 200×100 mm sheet size. Fits all bulk pack dispensers



FIGC001BP
Sugarcane Bulk Pack
Toilet Tissue 2-ply

Product Code	Description	Sheets/Roll	Quantity Case	Quantity/ Case	Cases/ Pallet
FIGC001BP	Sugarcane Bulk Pack Toilet Tissue 2-ply	250	36 packs	9,000 sheets	80

RISEWATER BUILDING & OFFICE SERVICES

SUGARCANE Z-FOLD HAND TOWELS

Sheet size: 230 x 200 mm. 3,000 sheets per case. 1-ply White. Friction dry, crisp-feel. Fits most hand towel dispensers.



RECYCLED Z-FOLD HAND TOWELS

Sheet size: 230 x 200 mm. 3,000 sheets per case, 1-ply White. Made from recycled paper. Fits most hand towel dispensers.



Product Code	Description	Sheets/Pack	Quantity/ Case	Quantity/ Case	Cases/ Pallet
FIGC004ZHT	Sugarcane Z-Fold Hand Towels 1-ply	200	15 packs	3,000 sheets	90
FIGC008ZRW	Recycled White Z-Fold Hand Towels 1-ply	200	15 packs	3,000 sheets	60



FLUSHABLE HAND TOWELS

Often hand towels are flushed down the toilet which can block the drains. Our 2-ply flushable V-fold hand towel breaks down when flushed, preventing blocked drains.



Product Code	Description	Sheets/Pack	Quantity/ Case	Quantity/ Case	Cases/ Pallet
FIGC006FHT	V-Fold Flushable Hand Towel Virgin Pulp 2-ply	210 sheets	15 packs	3,150 sheets	TBC



Telephone: 0333-335-5233